N of associated (recoToSim) looper tracks vs normalized X

tracks vs normalized x? |

recoToSim)

[{

[N o associated

lized X2

mal

VS norf

track

0

[N of reci

track x?

berset

o
o
[ee]
—
©
—
<
—
N
—
-Jo
—
=10
-1©o
=<
o
— ~ s =) ‘o
o - o o - o o o
— -
syoen eyed)dnp syoex ayedldnp oney
I o
N <
00 X
— O
g
© =
<
—
N
—
S = ==
B =i
© 4l i
.
< 3
. '
- ~ 3"
. <
L THt Tt It ff
o e @ o
3 ° 3 3 3
syoel dyey
I o
N <
00 X
— O
<]
© =
—
<
—
N
—
o
00
©
L
<
o i --
L
2 m = -
°© S 2 S
syoeX ani
g 2
=
PO
< =
@ [T
o £
= tE
e
— DOOA
DOO|
~
—
o
—
o T
o
2
~ ]
g
N 9
3
TR PEWETE TR I
o o o |2
3 S e >
syoel] z




	Contents
	Page 1


